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1. Thebasein the term 96 is

(i) -6 (i) 6 (i) 9 (iv) 7 (v) -9

2. Theexponentin the term62 is

(i) 2 (i) -1 (ii) -6 (iv) 6 (V) -2

3. Thepowerin the term 6 is

(i) 6 (i) -7 (i) 5 (iv) -6 (v) 7
4. Thebasein the term47 is

L4 .

(i) 1 (ii)y 7 (i) -4 (iv) 2 (v) -7

(5)

5. Theexponentin the term is

(i) 7 (i) (ﬁ) (iii) ° (iv) 2 (v) -7
3 3

Find the exponential notation of

3X3X3X3

Gy 33 i) 3 Gii) 3% (v) 5% (v) 3°

Find the exponential notation of

-6 X-6X-6X-6X-6X-6X-6X-6

M 6) (i) -6)2 (i) -8)8 (iv) (-6)% (v) (-4)8
Find the exponential notation of

214 X-14 X-14 X -14 x-14 X -14

() 14° i) 16)° i) 14)7 (v) (-14)° (v) (11)°

Find the exponential notation of

0.
10 Xx10 X10 X10 X10 X 10 X 10 X 10
)y 108 i) 78 Giiy 107 (iv) 128 (v) 109
Find the exponential notation of
10. 6 6 6
— X X

1171

i 6% i) 33 i) 83 (iv) 62 (v) 63
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13.

14.

15.

16.

17.

18.

Find the exponential notation of
17 17 17 17

— X X X

16 16 16 16

4 3 4 5 4
17y . 17y .. ,15 17 19
0 (1g) @ () @i () ™ (5) @ (55)
Find the exponential notation of
2y (2 x (2 x (D x( 2y x (2 x(Zyx(2)
9 9 9 9 9 9 9 9
8 8 9 7 11

Find the exponential notation of
-13 -13 -13 -13 -13

14 ) XU )X )G ) x gy
6 4 5 5 5
-13 13,  ,-11 -15 13
o (2 o (2) (2w (2) w (D)

m m _m
= X
(Xn)m

X( m+n)

>
N A
Il

(i) {ef,b} (i) {a,d,b} (i) {cd} (iv) {a,b} (v) {b,d}

_12=

(i) 1 (ii) « (iii) -1 (iv) O (v) undefined

_17=

(i) 1 (ii) undefined (iii) « (iv) -1 (v) O

10=

(i) o (ii) undefined (iii) 0 (iv) -1 (v) 1

(i) o« (ii) undefined (iii)) 0 (iv) 1 (v) -1



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

g0
(i) undefined (ii) 0 (iii)) 1 (iv) o (v) -1

03=
() 1 (i) -1 (iii) O (iv) o (v) undefined

2
e =

(i) exexe (i) exe (iii) -2xexe (iv) e (v) 4xXeXe

(i) -2XcxXxecxexexdxdxdxd (i) cxecxXcxadxadxadxd (iii)

(iv) 3XcXcXcXexdxdxdxd (v) cXcXcXcxdxdxdxd

30 n2 02p3=

(i) 27 xXnxXnxoxoXpXpXp (i) 30XnNXnXnXoXoXpXpXp (i) 32XnNXNX0X0XpXpXp

(iv) 30xnxXoXoXpXpXp (V) 30XNXnNXoXoXpXpXp

30XhX h=

() 3342 (i) 27A% (i) 302 (iv) 304> (v) 30h

fXfxgXxgXxg=

() =272 4° (i) fo° (i) 3Pg° (v) FPg°> v) Fg°

TXgXgXgXgXhXhAXhX[X[X[X[=

4,34 3,34

M 7g*n> 7 Gy 7g7h7 % iy agth? it 34

(iv) 9g*h

3
The expanded form of (=30) is

(i) (=30)%(=30)X%(=30)%(=30)%X(=30) (ii) (=30)%(=30)%X(=30)

(v) (=30)x(=30)%X(=30)X%(=30)

CXCcXcXcXexdxdxadxd

(=30)x(=30) (iv) (=30)

1 3.
The expanded form of(2b) is
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
(i) =bx=bx—-bx—-bx—=b (ii) =bx=b (iii) =b (iv) =bX=bX—=-b (v) —=bX-bX—-bx—b
2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
3.
. The expanded form of (=5n0) is

(i) (=5n0)%X(=5n0)%X(—=5n0)%X(—=5n0) (ii) (=5n0)%X(=5n0)*%X(—=5n0)*%X(—=5n0)%X(—5no0)

(iii) (=5n0)X(=5n0)%X(—=5n0) (iv) (=5n0)x(=5n0) (v) (=5no)

1 .3
. The expanded form of(-3h/) is

1 1 1 1 1 1 1 1 .1 .1 .1, 1 .
(i) -1h/x-1/7/x-1h/ (if) —hix—hix—hix—hix—hi (iii) —hix=hi (iv) —hix—hix—hix=hi (v) —hi
3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
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31. The expanded form of (5uv—u) is

(i) (5uv—u) (i) (S5uv—u)xX(5uv—u)X(5uv—u)x(5uv—u) (iii) (S5uv—u)X(5uv—u)X(5uv—-u)

(iv) (S5uv—u)X(5uv—u)X(5uv—u)xX(5uv—u)x(5uv—-u) (v) (5uv—u)xX(5uv—u)



Assignment Key

1) (iii) 2) (i) 3) (v) 4) (i) 5) (iii) 6) (iii)
7) (iv) 8) (i) 9) (i) 10) (v) 11) (i) 12) (i)
13) (v) 14) (v) 15) (i) 16) (iv) 17) (v) 18) (ii)
19) (iii) 20) (iii) 21) (ii) 22) (v) 23) (v) 24) (iii)
25) (v) 26) (i) 27) (ii) 28) (iv) 29) (iii) 30) (i)
31) (iii)
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